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Sociology was originated in the year :

(1) 1848 (2) 1845

@) 1840 4) 1838

FHISIIME & UIGATE ol oy -
(1) 1848 ' (2) 1845

(3) 1840 (4) 1838

Who has argued that "Sociology has a long past but only a short history™ ?
(1) Bottomore (2) Spencer
(3) Marx (4) Bierstedt

foe w1 ¥ 5w @ uw W o W ¥ oAt Shew e
By &7

(1) <remY 2 T
G) T @) TR

A list of the central figures (founding fathers) in the development of modern
sociology is given below, which of them is not included in as a central
figure 7 Identify :

(1) August Comte () Durkheim

(3) Kingsley Davis (49) Max Weber

sy T & R ¥ Sia et G R B w1 ¥ e

Pei sl s g @ &, 9% A 3@ g d 99 @ Shea =fe
% w0 A giwfg w8 R s ? 3R SRR

(1) omre B 2) zEm
(3) Taw Rm N CORC O
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4 "Sociology is the study of the forms of social relations", who hz“
said this ? -\_‘.

(1) E. Durkheim

@) G Simmel

(3) R. M. Maclver and C. H. Page

(4) M. Ginsberg
“wmnamﬁﬂﬁéﬁa}%mmaw%”%v&ﬁm% ?
() % g o

@) <. Rew

(3) & @.ﬁimsa'fg‘q"@r. . Iw

(4). . e

5 Sociology is related to :
(1) Psychology (2) Anthropology
(3) . Political Science (4) All of thg above
YA & W9y ¥
(1) wHtaE (2) wrETTE
() TR | @ wREw ol

6 Who gave the definition of "Sociology as a science which attempts at the
interpretive understanding of social action" ?

(1) Auvgust Comte | (2) Max Weber
(3) Durkheim (@ Sorokin

W&Wﬂ%ﬁWﬁ?ﬁ%%%ﬁ‘W&ﬁﬁﬁWhﬂ%m
T &1 Rem ¥ 2

(1) oA = 2) W Y=
(3) @M . (@) |RfEw
A (@) oirgsuLTs tcoma.

AN Tl |
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Who said that social statics and social dynamics are two branches of
soclology ?

(1) Comte (2) Johnson

(3) Bottomore (4) Maclver
Ww%%wﬁ#ﬁ%ﬁqﬁwﬁmﬂ%ﬁmmﬁ#ﬁ
s ¥ 7

1) == @) wE

(3) EER @) HeEE

Which of the following is the subject - matter of sociology ?

(1) Individual (2) Social group
(3) Human anatomy (4) None of these
frafofes & @ @1 v wmeTE & Ryaag 7
(1) = 2) weiTE e

(3) AFT TR (4) ST H § % 9

Alex Inkeles discussed three paths to define sociology as under :
(1) Comparative, Historical and Functional

(2) Evolutionary, Functional and Scientific

(3) Empirical, Analytical and Comparative

(4) Historical, Empirical and Analytical

I TH T S & TieniE F % 99 19 w9l ¥ o

(1) gememw, YfeRe o yEriem

() EEaE, yemiew ot It

(3) eHanti, f%w%qm o eI
@) ufeths, swwadr ot fyseomees
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40 "There can be no complete acceptance of sociology so long as the bé\
in a social order not conforming to natural laws survives”, who has glve,\
this statement about emergence of the scientific study of society ?

(1) Hegel (2) Sorokin
(3) Spencer :  (4) Max Weber
mmwﬁmwwu@%mﬁuﬁrﬁ%ﬁmwwﬁrﬂ'&ﬁ'
aaaﬁwm%mmmﬁmﬁﬂﬁramlw%ﬁaﬁma{mﬂ
& safa ¥ X F wg e v ¥ 7
(1) #me (2) atET
(3) W @) ¥ A
11 Sociology as the study of society and human behaviour has / have which
 of the main following scientific characteristics ?
) Observation (@) Generalisation
(3) Prediction (4) All of these
ﬁﬁﬁﬁﬂﬁ#{ﬁ'ﬁﬁmﬁﬁwg@m%wmﬁmww
e wEedl ¥ o W e ¥ 7
(1) Tl @) W
(3) Wil (4 T F W
12  Which is not the characteristic of sociology ?
(1) 1t is pure science . (2) It is applied science
(3) It is abstract science £ (4) Tt is empirical science
= 4 B O T ey W v @ ¥ 7
1) = fagm P ¥ () e i fEE ¥
() = o[ REE ¥ (4) TE s P ¥
FB62 A] 6 ~ [Contd...
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The major difference between human and animal societies is :

(I) to meet their own physical needs in terms of their environment.

(2) to meet their basic conditions of continued existence by means of

normative behaviour.
(3) to reproduce their kind.

(4) to integrate their activities (including whatever division of labour
exists)

T 2t i

mﬁa@ugm-ﬁg@raimﬂz%:

() T 9 o Wfaed onayasarel & off e waferer % w@ef
T ¥

- ST LS o T T e S TT i

() @ v it oRae N g wiflafed & adaee IR %
g ¥ gof aw ¥ '

LT A

'(3) a}a{ﬁwmgﬁ:waﬁm%%’t

@ = o Bemel @ died w ¥ (S W o T oifaew A ®)

o i T i i et e ] praT

14 Which is the example of primary group ?
(1) Family 2) Neighbourhood
(3) Play group ' (4) All of these
T ¥ waftee @ E % vewer € 7
(1) uiEr @ w=©E

() Wi TR | . @ wE =l
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15 What do we caJf the web of social relations ? veuR succrs pamTNER
(1)  Community (2) Institution

(3) Society (4)  Association

WR® W F s @ e w?f g7

O wgw | @

(3) gum (4) . afyfy

16  Which of the following is an example of a community ?
(1) Neighbourhood (2) Political Party

(3) Caste Association (4) Trade Union
F ¥ 4 B ow W &7 SqreRoy ¥ 7

(1) w©y | Q) TR @
@) i g | @ 5 ghaw

17 Who described the Gemeinschaft and Gesselschaft as two societies ?

(1)  Tonnies (2) Durkheim
() Weber 4 Karl Marx
ﬂw&mamﬁ@mmwm%a’rm%mgﬁmﬁﬁﬂﬁaﬁm% ?
(1) = 2) gdh
@) J @) & R
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Which is not the characterstic of a community ?

(1) Specific name (2) Spontaneous birth
(3) We feeling (4)  Abstract

TR B A o a8 ¥ v

(1) Tfrse wm (2 @ 5=

(3) & T "= | (4) srgd |

A group of people working togethér to achieve some purpose is called :
(1) Status (2) Institution
(3) Association (4) ‘None of these

el & W e R @ Wl § R Peswet @g e ww §
DEATT ¥

(1) wRefy | () Hwn
(3) wfufa @ T ¥ w5 &
20 Which one of the following is not an element in group formation ?
(1) Number of individuals |
(2) Informal or formal membership
(3) Diverse collectivities | |
(4) A stable patten of relationship
fr % & o w oo o Peln ¥ a7
(1) =frat & dem o
@) oFivafiE a1 shrafe wewm
3) T wm |
4) I o s @l REE |
FB62 A ] [ Contd...
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21  Who has argued that the primary groups are the Nurseries of human natiu-”"g;_x _
(1) Sumner (2) Bogardus
(3) Cooley (4) Maclver and Page
Tt W @Y. A @ ) e et we ¥ 7
(1) R (2) driEw
3 T . @ AR g AW
22 Who has given the classification of in group and out group ?
(1) C. H. Cooley (2) William F. Ogbum
(3) R. K. Merton (4 W. G Sumner
szﬁmwwmwﬁmw%aﬁﬁm%?
1) @ T o™ @) fafwrer ow. st
() R % WA ) w=g Wl @
23 The family in which the individual can have children of his own is
known as: '
(1) family of orientation | (2) extended family
(3) family of procreation _(4) Patrilineal family
agqﬁaﬂﬁmﬁqmaﬁﬁﬁsaﬁmﬁiaﬁﬁm% B
o ¥ ?
(1) 99 & wER () fFge Rar
(3) S H URER @ frgeaes iEr
FB62_A] °, 10 [ Contd...
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A group defined by a sex relationship sufficiently precise and enduring
to provide for the procreation and upbringing of children is called :

(1) Association (2) Community

(3) Family (4) None of these

Whﬁﬁw@ﬁwmﬁﬂmmqﬁmﬂmwwvﬁwham
T & UEE QO P hGEN Y Bl AT WA ¥ - wedEr §

(1) ubfy (2) W™
@ dhex @ T ¥ B T

I.
I
i
B

25  According to Iravati Karve in South India there is no clear cut distinction

PRt AR

between the family of birth and family of marriage because of :
(1) Practice of cross cousin marriage

(2) Absence of village exogamy

(3) Dravidian cultural ethos

(4) Centrality of Thali in Wedding rituals

IO FE F AT IR Wi ¥ v ¥ ER wd feEr § e

() s " iy faw g ¥
(2) W Sffae @ agufafy ¥
() #w it R ¥
@) Fafte T A g @ Hfawar §)

/.' .
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26  Who has called magic as the Pseudo-science ?
(1) 8. C. Dubey : 2  Tylor
(3) . Frazer (49) Durkheim
foet @m ¥ g o fmm ¥ o
M wa & @ - (2 e
() ¥ 4) gdim
27 Totem means - |
(1) An object, animate or nanimate, with which a group of people have
a mystical relationship
(2) | Manaism
(3)  Animism
(4) Animatism
A w1 ok ¥
() T g < wfifa a1 Prffg ¢, frg R A @ o e oy
RICINEGI
) =rFrER
(3) TR
@) Sif woEE
28  Which one of the following religions does not have an exclusive and
unique text ?
(1) Judaism @ Christianity
(3) Hinduism (4) Islam |
ﬁwﬁﬁaaﬁé%awaﬁﬁwwmﬁmawwﬁ%?
ORI L | @ & e
©) g i . @)  swm |
FB62 A| C:?/_.j INRIRESULIE [ Contd...




e e
,r-"S: //
indiresult.in whatsapp - 9352018749 /'.
(#)NoiRESULTE

When a women has more than one living husband at the same time, it
is called :

(1) Endogamy (2) Group marriage

(3) Polygamy (4) Polyandry
W UH Bl b e ¥ ur § oofve ufy &, @ @ o ome ¥ 2
(1) oid fame | @) wE faw
¢B) ¢ Frmw @) wgufr faaw
‘30  Which of the following is an examplé of wealth promised to the bride
by the bridegroom ?
(1) Dowry . (2) Stridhan
(3) Mehr {4) None of these
Frefifled ¥ @ @ @ w5, | @0 9 & Rk T F @@ W@
e § 7
(1) @& (2) B
() ¥ (4) T ¥ = &
31 Which one of the following is not an important reason for the emergence
of the institution of marriage ?
(1) Sexual gratification
(2) Livé in relationship
(3) Legitimation of children born out of such union
(4) Economic cooperation | ‘
Prg & @ &9 @ ar® Raw w0 den o sea ¥ seegl w8 ¥ 7
O @ wghe
2) fwa ¥ Rewmiim
(3) 39 TOR & GTST ¥ IO q=dl @l JE
(4) onitis . e
.FB62_A} 13 [ Contd... .
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32 Which of the following is not a challenge for national integi'ationi“.}

- @lNDlRE_SULTE

(1) Casteism (2) Urbanism

(3) Communalism (4) Regionalism

Fr & @ & @ o oo & R g W ¥ 2
(1) <nftene o | (2) TEE

(@) "EEaEE 4 &EE.

33  Which of the following is not a cause responsible for casteism ?
) Traditional occupation (2) Faith in caste prestige
(3) Intercaste marriages (4)  Caste organizations
Pt & 4 B W i B R s T8 b 7

1) TFERIE e @) ﬁ%vmuﬁr@rfff%mw

() R R (@) & W

34 Which of the following is not a characteristic of communalism ?
(1) Feeling of superioity ~ (2) Feeling of hatred
() Feeling of alienation (4) Teeling of nationalism
Pra % 4 @ o frir TR Al E 7
(1) s & wrE= (2) 9w F WE
(3)W#W. (4)?@1111135’[’41331‘
(#)WoiResuLTE
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Who has defined "Corruption is a wilful failure to perform a specified duty
in order to receive some direct or indirect personal gains 7"

(1) R. C. Brooks (2) Elliot and Merill

(3) Fairchild (4) Suther Land

WWW%“W&&WWHWW%@WW
B T WO F BT & gerE| B

(1) e @ a3 (2) sfrae T AMw

3 FrEEE @) wX Ave

Which of the following is not the characteristic of social change ?

(1) Social change is related with individual
(2) Social change is universal
(3) Social change is natural and inevitable

(4) Speed of social change is not the same in every society

(1) i WRadt @ diy At b
(2) dmfaE ufEdy grffi %l
@) i wReady @ie ok samem 3

(@) v ' F weive adw @ ofy uew e @ 3
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37 Who is the author of the book “Social Change in Modern India"

(1) M. N. Srinivas ) S. C. Dube "
(3) L P Desai 4) R. K Mukherjee
“mﬁm%ﬁwﬁawﬁaﬁ”m%ﬁ@mﬁa%’ ?

() . . A @ ww @5

G) o o | @ o % gwsl

38 Newly industrialising countries that have embarked on a process of
industrialisation and have experienced rapid economic growth are known
as :

(1) Developed bountries (2) Developing countries

(3) Second world (4) None of these

ﬂﬁﬂaﬁﬁﬁmaﬁmw%ﬂ%@%ﬁ%aﬁgmﬁm
: @mﬁmﬁmm'mﬂmm%,ﬁ%mw%:

(1) Ffea (2) farmsitw 2o

(3) Tadra Ry (4) 3™ ¥ B W&

39 According to a sociologist, the main factor behind the rise of capitalistic
society in the west was the rise of protestant ethic. Which one of the
following factors of social change is indicated here 9
(1) Technological factor (2) Religio-cultural factor
(3) Biological factor (4) None of these
wm&n@%ﬂwﬁ%ﬁmﬁm%m%ﬁmﬁ%@qaﬁ%
wﬁaﬁw@ww%t%mﬁﬁwﬁaﬁ%%am
® I wmeaw ¥ 2
(1) veifer e @) eiie-gighe B
() S s @) T ¥ B

FB62 A] °, 16 [ Contd...
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Which one of the following is an institution ?

(1) Village (2) Nation
(3) Marriage (4) Peasant's union

frer ¥ @ o @ dem ¥ 7

W = | @
@) M @) e Gy
\ﬁ 41 The institutions concerned with the management of production and
' distribution of human resources are referred to as :
(1) Ecopomic institutions (2) Social institutions
(3) Political institutions (4') Educational mstitutiops
A e ot m ST @@ R & e @ e Y - o w
(1) onfe Hed @) v e
i @) TR dend - @ dete ded

42 Which is not the characteristic of an Institution ?

5 (i) Structure of laws (2) Symbols

4 (3) An abstract system  (4) Group of people
T ¥ B @ wen R P T E

() Pt ®

() u% ongd R . (@) s W w

L maa) (#)INDIRESULTE  {conca.
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WI}% thich IS correct about the family ? .
) &is, group

2) Itig an association
3 It s an nstitution

4) Al of these
sﬁﬁﬁqﬁan%%&a‘é‘r%:-

(1) I T w3 @ = g gy g,
) %'w@w%: @ T ¥ wf
4  Wno said this, "Wwe belong to associations pyy not to Institutiong" ?
(1) Green (2} Warg
()  Sumner (4 Maclver and page
“mﬁ%%mﬁﬁ%w%w@%’:w%ﬂ%m% ?
1 e ) T
® @ @ TR o oy
45 When 4 Person exercigeg his influence over the other person (s) IIrespective
of the Will of the Latter this influence jg called -
(1) Authority @) Power
(3) Charisma (4)  None of these
mw%%mw%@%ﬁm%hw
LU S S B ey ¥ -
M) @ () afy |
G)  Bfeemy @) T 3 3¢ o
FB62 A |
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n sociology, what do we understand by organised and established
procedures ? :

(1) Group (2) Association °

(3) Institution (4) Role

weTe ¥ e od der aRhorel § e F g ¥ 7
ORI @ uf

(3) w=A 4 i

47 Which of the following is an association ?

(1) Dowry system : (2) . Trade union

(3) Marriage " (4) Kinship

frafafaa & =@ @ @l ¥ ?

(1) & 9« (2) #htw 99 |
G) frw | @ TR )
i F
" 48 Which of the following is not a unit of culture complex ? .

(1) Family

(2) Marriage .

R S S

(3) Incensed sticks in religious rites

g (4) Education |
i fr A A B9 W o aREhw dgw F ¥ ?

@ e

i (3) e el ¥ orRaRmE

@ Bem .

D omear (#YNDIRESULTE ¢
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49 The practice of judging the culture by comparison with one's: oﬁ\_
known as : "
(1) Cultural relativism (2) Integration
(3) Acculturation (4) Ethnocentrism
Yhrl &1 it @Y W Wl @ g & SR 9 &
FHEAMT § |
(1) wigphe grsER @) uSHE
(3) W sk (4) (qardtzsm) Wenfabiace

50 . Which stage of culture out of the following has not been stated by Sorokin
in his study of social change ? '
(1) Sensate culture (2) Ideational culture
(3) Ideological culture (4) Idealistic culture
HRifeT 3 aia® aREds &1 osgae B gu eaied § & few e
wl SeE T8 fem ¥ 7
(1) JqeE S @ FEoTew dht
(3) PFErurdEr @i @) oEateE Wk

51 'Our culture is what we are, our civilization is what we have', whose words
are these ?
(1) Maclver (2) Tylor
(3) . Sorokin (4) Herbert Spencer
“gaTd AT ¥ oem @ ¥, wwfe T wwar ¥ o e owE e ¥
foa wer ¥ 7 |
(1) AsEaEx Q) TEW

- (3) uritew (4) TEE I
FB62 A] 20 [ Contd...

YOUR SUCCESS PARTHNER

>
@lNDlRESULTE




indiresult.in whatsapp - 9352018749 = Al YOUR SUCCESS PARTNER

Who used the concept of cultural lag for the first time ?

(1) E. B. Tylor

2) T B. Bottomore

(3) W. F. Ogbum

(4) R. M. Maclver and Page

T feea &1 cmuron & 990 9w e wder femn oo ?
(1) 3 9 TR

2 & €@ TEER

() =Y, TE &

(4) oM. uH., f@Ear gur |9 Y Ow

53 Before 1838 sociology was known as - |

(1) Social chemistry

(2) Social economics

(3) Social physics

(4) None of these

1838 §. & Y WA WET ST AT

(1) wifwe WA

(2) urfaw s

(3) wmvs wifenr

(4) 3‘*1”[ q B T . |
FBG2-A] (ANDIRESULTE {con.
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54 Who started teaching of sociology in Bombay Unijversity in 1919 ‘)

%
kY
y
.

(1) G S. Ghurye (2) Patirick Geddes

(3) Merton (4) Maclver and Page

1919 ¥ fraY T8 Ryafeneg § QU S oETOR WS e ?
M o @ g @ w w

(3) w& (@) HHEE e 9N

55 Which is not the subject matter of sociology ?

(1) Social action | (2) Social process
(3) Status and Role (4) Nuclear actions
T ¥ Bl o @ Reg g T ¥ ?

(1) wrenfeew Bea ) wmtss wlwan
@) wRaRr ol @ i fed

- 86  Sociological perspective is primarily related to an attempt to :
(1) Change the social order
(2) Understand the social order -
(3) Reform the social order i
(4) Adjust to social order _ i
qr Wi e T Y B A § wEh ¥ 2 !
(1) qefes ST o SEE W
() wiie o & R &
() wHiN® T & gERA B

(4) GG TaEn ¥ SAEEd s Wl
FB62 A [ Contd...
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_ / In the view of the humanist sociologists, the most important events to which

sociology should address itself, are precisely :

(1) Science which deals with the laws which govern the recurrent or

multiple events.

(2) Science which deals with the laws of regular events.
(3) The unique historical forces or acts which have most shaped the
? course of human experience.
%E 1 (4) None of thel above
I3 . '
\1“ wwﬁwsn@ﬁ%ﬁﬁﬂﬁ%ﬁﬁwﬂwi%mﬁw

w0 § oo fem W oS
(l)ﬁﬁaﬁﬁwﬁﬁmﬁmﬁ%ﬁaﬁf@rwﬁa%l
(2)a3ﬁ§ﬁﬁﬁﬁuﬁam@féﬁirﬁﬁmeﬁ%ﬁmﬁﬁsnﬂﬁ%l

(3) %aﬁﬁzﬁﬁmﬁﬂﬁmﬁmﬁﬁﬂﬁwaﬂﬂa%wﬂ
ger wu 4 Fiff e ¥ |

) e § & &8 T

58 Which of the following is not regarded as the characteristic feature of

scientific method 7

(1) Reliability (2) Validity
(3) Replicability (4) Common sense observation

%ﬁmﬁﬁmﬁﬁm‘ﬁmﬁmﬁmfﬁ%aﬁmﬁ%?

(1) fagaesiEar @) Au
() gt (4) e U ATEEA |
FB62 A ] | ° 23 [ Contd...
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Which of the following are units of social structure ?
(1) Institutions (2) Groups

(3) Associations (4) All of these
fra & ¥ SR @ wmive d@eeT @ geEa ¥ 7
1) wem . @) wE

G) Rl @ T ¥

Who is the champion of structurai school of thought ?
(1) A. R. Radcliffe Brown (2) J. J. Bachofen
(3) L H Morgan @) V. G Childe

Rigm & doTee fTaua & wods e ¥ ?

1) © o e W @) . A b
() wd. ud. AR @ 9 o uEe

Identify the component / components of social structure :

(1) Network of social statuses

) In_stitutionally defined and regulated arrangement of persons
(3) Interrelationship of groups

(4) All of the above

IS W % A [ ol B SPE AR

(1) umiee wRakml & 99 sheway

() Wamew ' § vfonfm e st @ Fafe e
(3) wE % 9 dquEy

(4) SodE W
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Which of the following does not determine the Ascribed status ?
(1) Sex (2) Age

(3) Caste (4). Education

Prer 2 & A v wRaR @ PR @ @ ¥ 7

i 1 R @ @y

\ . @) @) T

! 63 Who has given the concept of 'Status set' ?
| (1) R. K. Merton | (2) Kingsley Davis
3) R M Maclver (4) E. Durkheim
TRefy §o @ suon ReaY & ¥ 2

(1) AR & W . () Ferer FRm
(3) 9R. wW. AFEM @ % g@m

64  Position which the individual occupies in the group by virtue of his / her
sex, age, family, class, occupation, marriage and achievement is called :

{1) Role (2) Status
(3) Social system {4) Society

9z 1@ e afw (Rl o o o R, omg, aftarg, of, s,
ferare wem Syl oy & wowew W @xar ¥, wewr ¥

1 e () whafy

() wmifa® = 4y T
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65 Which of the following create a situation for role conflict ?
(1) Conflict within a single role (2) Conflict between roles
(3) Both (1) and (2) (4) None of these
ﬁwﬁﬁﬁwm{ﬁwﬁaﬁaﬁﬂaﬁrmm% ?
() % 9= qfimr F o @ iRt ¥ guf
@) @ (1) wn @) @ ¥

66 Tick the correct match -
(i)  Theory of collective representation (a) Freud

(i) Theory of Looking glass self (b) Mead

(1) Generalized other (c) Durkheim
(iv) 1d, Ego, Super Ego (d) Cooley
‘Code :

@6 - O @ - (@), Gi) - @), @) - @
@ @ - @ @ : (), ) - @), @) - b)
@ - @, (- @, Gi) - G), (v -
@ O -@© 6@ - @, @ - o), @ - @

e e @ $fe ey

) wRs e & feme () wrE
(ii) ma&waahmﬁlm (b) e
(i) g e () gEm
) =, &, g & @ g
FT

D @ - ®) 6@ - ©, (i) - (d), (v) - (a)
@ @ - @, @ - @), i) - (a), (v} - (b)
@) @ - @, @) - (@, i) - ©), ) - (0
@) @ - ©, G) - @, Gi) - (o), (v} - (a)
FB62 A 26 - [ Contd...
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According to Piaget, the infant goes through how many stages - before
he convinces himself that there are external objects with an existence of

their own :
(1) six (2) five
(3) four : : (4 three

st % oER T& eend fhae W ¥ @Y [ERal ¢ T9% uEd %
9% vaw € Wg fr Sud oaftaw ¥ wu v el W N efew
Bl ¥

O @

() =X | @ &

Which of the following is not an agency of socialization ?

(1) Family (2} Neighbourhood
(3) Political institution (4) Heredity

Prer % @ @ @1 gl & e a8 ¥ 7
(1) uEr 2) W

(3) TS e (4) STgaitiE

The pattern of pressure which a society exerts to maintain order and
establish rules is called :

(1) Socalization _ (2) Social structure

(3) Social stratification (4) Social control

e AR e HE @ e e & e el i e @ e
T 9 % UREET B BEd § c

(1) Saie (2) wHeRe WAl
(3) weH WWAHL @) wmive frsm

YOUR SUCCESS PARTNER
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70  In which category comes the control of father on the behaviour 0\
(1) formal control |
(2) formal and informa} c;)ntrol
(3) informal controi
(4) none of the above
ﬁmwy'%wwﬁmaﬁmwﬁwf ?
(1) oivenfer frimg
2) ot w emolraReE R
(3) oFEiE Pris |

@ SRw ¥ § 3¢ T

71 Which of the following are the types of social control ?
(1) Conscious and uncotiscious control
(2) Direct and indirect control
(3) Positive and negative control
(4) Al of the ébove
ﬁwﬁawmﬁwasmmﬁ ?
() = T ol Frejsmy
() w9 ud ewwa fre
@) WEROH T TrmwEs fre

4) S @Y
FB62 A] ' . 28 [ Contd...
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F Y Which of the following is not a formal means of social control ?
(1) Prisons _ (2) Courts

(3) . Folkways _ (4) Universities

The base accepted by Karl Marx for the formation of class is :

(1) Religious ‘ (2) Social
(3) Cultural (4) Economic
mﬁm%aﬁﬁﬁwf&meﬂmwﬁmm%aﬁ%:
(1) afifs | @) wiw o
¢) gl (4) ot

74  Who has propounded the functional theory of social stratification ?
(1) Gillin and Gillin (2) Ogburn and Nimkoff

(3) K. Davis and W. Moore (4) Karl Marx

(3) %.%&xqqasaﬂ.{r 4) =W 9w

FBGZ__A] | 67/‘ INDIRESULTE = [Contd...
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75  Which of the following is contradictory of social stratiﬁcation""-.;
(1) Equality (2) Dissimilarity
(3) Diversity (4) Inequality
fer & @ B @ oo we @ Rl ¥ 2
(1) T (2) sEEEEr

(3) Tafyear @ Trgmr

76 IVertical mobility is related to :
(1) Change in role (2) Change in .occthation
(3) Change in group (4) Change in social class position
e asiear daftm T
(1) s § afreds @) = ¥ wiady
() T ¥ ofiEdw (4) wrRe a1t Rafy ¥ ufied.

77  Which of the following is not a condition in social interaction ?
(1} Social contact (2) TIsolation
(3) Communication (4) Sensibility

ﬁwﬁ%ﬂﬂd’rmmﬁmwﬁmﬁ?rawﬁ%?

() weihe s ) guFHa
(3) €ER @) "I gt
FB62 A ] . 30 ' [ Contd...
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7 / Striving of two-or more persons for the same goal which is limited so

that all cannot share it, it is called :
(1) Competition (2) Co-operation
(3) Assimilation (4) Conflict

QA T A Y oty =haE w1 e 9E, Gﬁ;ﬁ%@ffﬁa%%mm
ariiery <&f s WBd, B TN % gt B Hed ¢

(1) - wieequf (2) waAr
(3) Hﬁﬁ’mﬂw (4)  du

The deliberate attempt'to oppose / resist or coerce the will of another or
others is included in the definition of :

(1) Competition (2) Conflict
(3) Accommodation (4) Alteration

AT Syl @ wRa % g qEd B 3 W Ry, TReR, TEIEE A6
% PR e T W &R o

(1) wioest @) gud

(3) =HawENH | 4) <A™

The kinship system may include socially recognized relationships
based on: : '

(1) Affinal relations (2) Consanguineous relations
(3) Both (1) and (2)
TR e § e g 9RET TN 4 gy ainfva ¥, S
auanfe &

(1) Taw =9 W
@ A () @ @) © @ TR &
@ oiresuLTg

(4) None of these

(2) TE T W
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-'-.\'._"
Certain persons who stand in definite social relationship to each other’

required to maintain distance from each other formally in many culturé,” -
: L

is known as:

(1) Joking behaviour

 (2) Avoidance kin behaviour

(3) Couvade

(4) Amitate
mwﬁﬁﬁ@aﬁaﬁ%ﬁﬂwmﬂéﬁﬁﬁm—@%ﬁeﬁwﬁm
A TN T B AEATTHA H HEd T

(1) ™ e

(2) WReEr =EEr

(3) e wakEl A FEHE

@ TR

The system under which mother's brother occupies prominent place in
kinship usages is known as :

(1) Couvade
(2) Amitate
(3) Avanculate
(4) Teknonymy

wmmﬁﬁ%ﬁaﬁ.ﬂmﬁwmﬁmm%,
FHeA™l & ¢
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Which arti A .. .

~article of Indiap Constitution described reservation for scheduled
castes / scheduled tribes in government jobs ?

(1)  Article 14
(2) Article 17
(3) Article 335

(4)  Article 338

(1) sgRT 14
@ egde 17
(3) or=mE 335
(4) orgmT 338

8 . ..
4  Which of the following in not a cause of low status of women in India ?
(1) Joint family | |
(2) Child marriage
(3) Women education

(4) Economic dependence on men

ﬁmﬁ@rﬁwww&m@fiﬁwﬁfﬁw e
o fafe & R

(1) "g® tfEr
2 W fyarE
(3) AfEe fven

() T8 W anfie Prfa - -
FB62 A | @ INDIRESULTE | conea

T e W -
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85 Which of the following statement is included in the definition of minority ?

(1) A low sense of group solidarity deriving from the experience of
inclusion. |

(2) A strong sense of group solidarity, deriving in part from the collective
experience of exclusion.

(3) A strong sense of group competition deriving from the experience
of group solidarity. '

(4) A strong sense of group cooperation, deriving from the experience
of collectivity.

ﬁwﬁﬁmmmmﬁaﬁqﬂﬂmﬁmi?

(1) wwﬁwﬁﬁrﬂmﬁhmaﬁqﬁaﬂ%%mﬁﬁ
frpedl ¥

(2) - OF THEHAT B ASE W@l S AR W W FET B A &
qY SNT WX oA ¥

(3) wE wheml @ wegE WA W OWE el & g d
frfem ¥

(4) THE GEEr W AeEm WEW W ' & agwd § Fie ¥

86 Who among the following gave the suggestion for National Park' to the
government for tribal development in India ?

(1) D. N. Majumdar 2) G S Ghurye
(3) N. K. Bose (4) Verrier Elwin
frtalier ¥ ¥ frow v o S e & e Tl saw @
gaa e ?
(1). 3. T, WSHER Q) wWowE @
(3) WA &. ¥ @ afer wwkE |
FB62 A] Y, [ Contd...
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What does the term ‘Demographic transition' stands for ?

(1) Level of fertility and mortality are high

(2) Level of fertility and mortality are low

(3) Decline of mortality rate and rapid population growth
(4) All of the above

SR T o fowd g wgew @ ¥ e

(1) 99 R 9y ® & = w0y

(2) 99 8k yg = & e ®Y

@) T | ¥ e ot wwem & Sy ghg

@) Sy el

Consider the foliowing factors

(@) Increasing birth rate

(b} Perceived importance of children as additional earners
(¢} Declining death rate |

(d) Increasing age of marriage

Which among these is / are the reason (s) of population explosion in India ?

(1) (a), ®) © 2) (c) and (d)
BG) (), (c) and (d) (4) (b} and (d)
Prrfifen Bt w R B -

(@ T s

(b) R onfw & = ¥ w=f B wEar Wy HETH
(©) ‘az?ﬁ TY I

d) Faw A it o

T @ @7 & ura ¥ waert Rewle & arer -
1) @, ® (© - @ (o) U ()
@) (), (o) T (d) @) (b) = (0)

@Rbresue 1o
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80 The number of years an average person can expect to live is known as -y .
\1‘-.

.
e

(1) life expectancy ' (2) life span
(3) fecundity (4) none of the above

qwaﬁﬂawﬁﬁ'mﬁwﬁf&amﬁﬁwmmmiaﬁw

i
(1) ST 3 @) e g sty

3y Grmded) e ol (4)mﬁﬁaaer§q€r'

90 Which of the following is not an important concept in population analysis 7 -
(1) Birth rate (2) Death rate
(3) Fertility (4) Ecological rate
aﬁﬁwﬁaﬁwﬁﬁwﬁ%wwmq@ﬁ% ?
(1) v (2) TIR

(3) wEa @hal (4) utiafelm

91 Crime is a (an) :

(1) Social bebaviour @) Approved behaviour
(3) Asti Social bebaviour @) Group behaviour
I Th ¥
(1) WAl @R @) orpfE SR
(3)' ST STaEr 4) aHfEEd TR
A @worEsu -

N :aglal (L] Vs B
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Crimes carried out by those in more affluent sectors of society is referred
to as :

(1) White collar crime (2) Blue collar crime
(3) Theft (4) Burglary

m%mﬁmmmwaﬁ%wﬁmﬁﬁwﬁmﬁi
€ ww W ¥ o

(1) w%aGisr sy (2 Ty ey
G = | @)

Which of the following is a cause of Juvenile delinquency ?
(1) Broken home (2)  Education

()  Personality 4) Culture
ﬁwﬁﬁﬁwmmwwmw% 7

(1) R qfar (2 e

() =R | @ el

Research conducted for the purpose of developing scientific theories is
known as :

(1) Basic research (2)  Applied research

(3) Individual research (4) Action research

) Gﬂ%rr{‘qgr FIHYN 2) =i STEYFT
@) = ergeam . @ TrTres egeam
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95 Any plan for the collection, analysis and evaluation of data is framed 1t

(1) Social research (2) Motivational research

(3) Organized research (4) Research design

Sifes! H THAE, ﬁaﬂwawwaﬁaﬁuﬁwﬁaﬁa@%
Sq wE §

() wmiaE agaas @) JBUTTEE AGEEE

(¢) wifsq egEuN (4) i Riticaa]

96 What is done after data collection in social research ?
(1) Determination qf uni_ts (2) Formulation of hypothesis
(3) Classification of data (4) Pilot study
A SEEE § q dee & AR e e ¥ 7
(1) THED o AT () bE B T
(3) @ B/ TUH (4) eI sEE
97 A type of -sample selected on the basis of geographic areas, is known as:
(1) cluster sample (2) area sample
(3) biased sample (4) quota sample |
@mmuﬁwﬁﬁm%ﬁ%wwmwt
W W ¥
(1) garr SR @) & i
(3) oifvfrgt whwE () iy wiEEs
FB62_A | 38 | [ Contd...
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When all the units of universe are so éystematised that each unit has an
equal chance to be selected in the sample is known ag -

(1)  purposive sampling (2) random sampling
() stratified random sampling (4) cluster sampling

mwﬁwmﬁwmmmw%%mm
ﬁwﬁwﬁwmﬁ,aﬁww%:

(1) SEeaqel Pyl ) 29 st
3) wfa ﬁ‘mﬁ_ @ T P

Which of the following is not a characteristic of a representative sample ?

(1) large area (2) adequate size
(3) free from bias (@) flexibility |
%%@ﬁa&hﬁﬁwﬁ%ﬁwﬁﬁa’rﬂmﬁ% ?
(1) fasmw @ (2) vl emerc

@) oty § ga (4) e

100 Sample selected purely on the basis of convenience is known as :
(1)  Probability sample (2) Random sample
(3)  Accidental ‘sample (4)  Purposive sample

@Wﬁﬁﬁwgﬁm%wwmw%aﬁmﬂ%:
(1) d9ET 9% yiyagw 2 I3 i

(3) R vfqeaT @) <EEEE i
FB62 A] C]/ ‘ INDIRESULTE [ Contd...
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101 When a researcher himself becomes a part of the study group, the method--\‘
is known as : )

(1) Interview (2) Participant observation
(3) Non-participant observation (4) Schedule

mmﬁmmwwm@waﬁm%ﬁwwﬁ

#® Hed ¢ ¢
(1) WE&HR _ (2) GEWCN SrEwiE
(3) wm?r SECiEal @) g

102 Focused interview was first used by :
(1) Goode and Hatt (2) Jahoda and Cook

(3) John Howard (4) R. K. Merton

YR werenk &1 4 waw wam fean en

(1) T wEqEE 2) e T TS
(3) w7 FEE 4) T . W

103 In which of the following method, use of eyes is more than ears and voice
(1) Interview . {2) Observation

(3) Questionnaire (4) Schedule

ﬁﬁﬁ%%&fﬁ?ﬂﬁmamaﬁﬁm&mﬁwaﬁmm
A

(1) W& (2) orEET
(3) vEEW @) orggd
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__.::',"'104 Any tentative statement which is liable to prove or disprove is a

(1) Hypothesis (2) Concept
(3) Theory (4) Fact
WA orh e freds R o o A @ deE b g
(1) ¥ | @) orERm
3) frar (4) e
| 5 105 The necessary unit between theory and the investigation which leads to
’ discovery of additionals to knowledge is known as :
; (1) Hypothesis (2) Fact
3) 'Concept | (4) Model
Regr ol oigde & da @ 0F svam w9 R T g
q werw A ¥, wewrd ¥
(1) SumTT 2) T«
(3)  erHon | (4) whrog
166 The book on 'Scientific Social Survey and Research' is .written by :
:% _ (1) Goode and Hatt (2} P. V. Young
| (3) A Kaplan (4) C. Hempel
e Wew v T el qew Rl §
| (D 35 T &e @ & A
G) T wwaEE . @ W Tuw
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107 Hypothesis 15 not a/an -
(1) Tentative statement
(3) Explanatory statement
BT T ¥
(1) oRg™ ®HEH

(3) =TETTE HE

)

@)

)

@

/.1 . .
(@ oiresuLTa

Relational statement

Vertical statement

L3 B | (G O 7 &

95 HUT

-
\ .

108 Max Weber holds the distinction of social science and natural science in

terms .of :

(1) Objective measurement of social action

(2) Mathematical expression of social action

(3) Machine processing of social action

{4) Subjective understanding of social action

g d9T % e REe ok ymhie Rew ¥ Rl @ suk Ran

(1) wofwes R &1 aegues Ao

(2) wrntve fear # e silrefa

(3) arie fEan @ wsie g wed

@ wmtves B @ Rguw g9
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_;,‘,09 The most appropriate technique of collecting information from a large
" literate population is :

(1) Questionnaire | (2) Schedule

(3) Interview (4)  Observation

%ﬁﬁﬁﬁﬁhﬁﬁwﬁw@&amﬁaﬁwﬁmm
whafy ¥ -

(1) weTTEEH @) ogEd

(¢) wawR @)  oEAET

110 The correct sequence of following activities in the research process is :
(1) Data processing, data collection, data analysis
(2) Data collection, data analysis, data processing
(3) Data collection, data processing, data analysis

(4) Data analysis, data processing, data collection

AT W K W W W P wfearel @ a® Wy ¥ -
(1) ciiewsl &1 wom, affwel &1 wwew, ofwmel @1 Rseryor
(2) oiFEl @1 Woww, oilwsl @1 fayewy, sitHSt B wHw
() oimel &1 dew, siwst ® wwW, oifmel w1 Ao
(4) Wm.ﬁsw,mwm,mwmﬂ

EB62 A] OjNDIRESULTE (Contd.

YOUR SUCCESS PARTNER




% INDIRESULTE

indiresult.in whatsapp - 9352018749

111 Which social philosopher propounded the concept of and use of social .
Darwinism in the study of social structure and social institutions ?

(1) Pareto

2) Comte

(3) Durkheim

(#) Spencer

i W T AT dendll % s ¥ wmit s &
mmmmwﬁmmﬁw%ﬁm% ?

1 T

(2)

@) @

@) wE

112 According to Durkheim, 'organic solidarity' is a characteristic of :
(1) Primitive society
(2) Rural society
(3) Modern society
(4) Underdeveloped society
g@n%w‘qmﬁw’%wﬁﬁﬁm%:
(1) ond F=
(2) RN ¥AS

FPARTHNER

Y, |
wo s (GYWDIRESULT e
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/ 13 In Marxian socia] thought, change from capitalism to socialism will
J come through :

(1) Revolution in the means of production
(2)  Rationalization of the production process
(3) Disappearance of the middie class

(4) Elite class revolution

Wﬁﬁwam%m%ﬁmaﬁw.ﬁvﬁaﬁvﬁaﬁm ¥
%ﬁ?ﬂﬂiﬁmﬁlﬂ"ﬂ:

(1) SO & anef & wifg
@) T yfew @ e
@) 7o =t gw B
(@) i =t wig

114 Which of the following factors does not contribute to the development of
modern bureaucracy ? '

(1) The development of barter economy
(2) The development of money economy
(3) The development of administrative tagk

(4) The rational interpretation of law and legal guarantees

WWW&H@T%%WH??@?%WWW@%?
1) ﬂ?@ﬁﬁwﬁwﬁéﬁaﬁmﬁﬁwmﬁm

@ I W e oveforaen @ R

() vwEhE Bt @ fwn
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115 Match List - T with List - IT and select the correct answer using the codes

(@
()
(iii)
)
(i)

List - II
(1) Division of labour
(i) Organic analogy
(iti) Law of three stages

(iv) Religion and Economy

- T H G - ¥ S ein Prafies B ¥ omer @@ sar

given below :
List - I
(1 A Comie
() H. Spencer
(¢) Max Weber
(d) E. Durkheim
Code :
@ © ©
O @ ) G
@ ® G @
@) G () @)
@ G O W
B TqET BYE
-1
(@ T wR
b T Ly
(© A% I
@ % gdm
% ¢ _
@ ® ©
O G @) G
@ © G @)
@) G G) @)
@ @ 0 @
 FB62A]

@
Q)
(iif)
®
(i)

-
Q{g INDIRESULTE

T - 1
() TR ow I
(i) omwite T

(iii) w1 @® N Rs™
(iv) Rfws= wos swimY
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116 Gandhian Satyagraha can be considered as an example of which -one of

the following Weber's type of social action ?
(1)  Sentimental action (2) Evaluative action

(3)  Affective action (4) Traditional action _

TR T 9 S & Fria % 9 fow o s o e
% W & w7 ¥ Omy o gear & 7 |

1) W fga '(2) TisTIeS  fhar

(3) e g @ o femar

According to Durkheim, Anomic suicide is a result of :
(1) excessive involvement of the individual in society or group life

(2) strict social regulation and lack of group integration and feeling of
excessive sense of individual responsibility |

(3) state of normlessness and social and individual alienation

(4) none of the above
gﬁq%mwaﬁmmﬁmﬁqu&w%:
(1)@aﬂﬁmwmwﬁmwﬁaw

(2) R wenfve Prmary, fﬁﬁhﬁrwqﬁmwammmﬁmarﬁmﬂ‘
CUR G B i) ST | |

(3) %Wﬁﬁuﬁrawmﬁmmmw%mgm
T
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Which one of these is not a factor contributing to increasing globalization ‘?
(1) the growth of international and regional forms of governance o
(2) the spread of information technology

(3) transnational corporations

(4) communism
mgm%mmﬁ%ﬁmwm@ﬁ%?
() st wen A wa W % wed @ R

(2) g ddlh Bl TER

G) T % SEIR ¥ ERE § RIS HRAEE)

(4 wHaR

"The process by which a 'low Hindu caste' or tribal or other group changes
the customs, rituals, ideology or any way of life in the direction of a high
and frequently ‘twice born' caste, is known as :

(1) Westernization - (2) Urbanization
(3) Sanskritization (4) Modernization

o yRpar Rrad T @1 B fg, Wi W B SR S o WYE
fpdy woT ol wia: Bt oty o foan F or B R, wrdews, e
o o SRt @ sTwan ¥ wEAEl T

(1) il @) B
(B) HEHABHW @) nyPEm

Which characteristic is not true for post-modernism ?

(1) it gives importance to humanism '

(2) it gives importance to emotions

(3) it gives importance to cooperation

(4) it gives importance to logic and competition

A B R seR-ongRear & T e T ¥ 7
(1) U AEEE W AEd Al §)

(2) TE WETSl ® AEd &l ¥

() @& W @ TR Al

@) =e % o wfveral B wEE W@ ¥
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_;.'t.j-;.121 Cognitive development means :

(1) Development 6f comprehensive and pem‘laﬁent knowledge
(2) Comprehensive and permanent physical development

(3) Comprehensive and ﬁermanent intellectual development

(4) Comprehensive and permanent active development
e e @ o ¥ o

(1) =% od @l 79 & e

| () = T e e e

| @) =F o e dfsF faw

@ = wd Wl feaee R

122 Which of the following is not an element of communication ?
(1) Medium of communicatioﬁ
(2) Channel of communication
(3) Objective of communication

(4) Planning of communication

P & ¥ 99 @ a whww woaw Tl 7
(1) Hyo & wregy

(2) AW B fE

@) W T s

@) dwm & free g
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123 The obstructive element in the development of personality of the 1\
teacher is :
(1) Knowledge of social environment
(2) Cultural experience
(3) Lack of imaginary power
(4) High mental ability
HAE & Hiewd & faww ¥ avw q@ ¥
(1) .‘El'l"TIﬁlﬁ IR @ TE |

(2) wiphw sgaa
(3) e S W AN

(4) I FHfaD W

124 The advantage .of compute.rﬂ a
(1) There is no need of ;c;é?_her
(2) 1t is useful in higher cla§§es
(3) It is useful for gified students
(4) It makes learner to learn with oﬁn pace
FYET wEw USRI CHET S
(1) o @ amayasar e wd
(2) % T wemel & T swEEd ¥
(3) uz wReee Bl % fio swEe ¥

(4 Tl s ofy ¥ ogEw dear 3
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__:J_fz’s 'Change in humag sacrament or conipetency which can be adopted and
t

hose which are not imposed on the process of growth', this statement is
given by :

(1)  Trayers
(2)  Gagne
(3)  Strayer

4) Mc Grow

Which group from the following belongs to software ?
(I} MS Word, Photoshop, MS Exce

(2)  Scanner, Whatsapp, PowerPoint

(3) Monitor, Printer, MS Word

(4)  MS Excel, Photoshop, Mouse

B & & o o et o ¥ 7
(1) uamm = B9, THag. TR
@ @R, TrEm, g TR
@) FFte, frex, grow. g€
) T TR, ey,

51 /', o |
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127 Mental or intellectual development in adolescent stage occurs :

128

(1) Very rapidly and in more quantity

(2) In more quantity but very slowly

(3) In very less quantity but rapidly

(4) Very rapidly and in less quantity

Tt e § wrRe W dfew few f@ ¥
(1) ga sfren & od ga ot wen A

@ et T A A AR

(3) =TT #4 won ¥ e dheer @

@) ot o ¥ wF B oA A

Which statement is wrong with reference to use of L.C.T. in education ?

(1) Large number of students would be part of education

(2) There will be no need of teacher

(3) Teacher's role would be as a facilitator

4) Teaclﬁng would be mote effective

fran ¥ LCT & swd & ‘& F v @ ww ¥ 7
(1) =& wen ¥ Pl @ Tew ¥ e @
(2) HANME B AEITD ;ﬁﬁﬂ’i’n

(3) oANE B qihuwr gewedl & w9 § @i

-'(4) it sy wuEl @
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(1) Childhood (2) Adolescent

(3) Post childhood (4). Pre childhood
ﬁmwﬁmﬁm&fﬁmwmﬂﬁm@m% ?
(1) e @ Frsireen )

(3) TAT =Y ) I IwEEn

130 Propounder of programme learning model is :
(1)  Ausubel (2) Piaget
(3) Huli (4) Skinner
AiehiE st Hfew & wiw ¥
W) argw (2) ey
om @ e
131 Who propounded the principle of stimylus response ?
(1) Freud  .{2); Watson
(3) B. F. Skinner _ ,(4) __T_hpmdike
i s R ft R b 7
(1) wms ). =EE

(3) N wwm &R 4) u~EEs
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132 Self concept is developed by : YOUR SUCCESS ua
(1) Self perception ..
(2) Peoples' perception
(3)  Self perception and peoples' perception
(4) TIntelligence’
wyEy i R o
'(1) e @
(2) . | | oIRom ¥
(3) TWURON T W W HRem q

“4) =@

133 Which of the following is not included in Bruner's principle ?
(1) Acqﬁiring new knowledge or information
(2) Transformation of acquired khowledgé
(3) Testing of adequacy of knowledge.
(4) Testing of madequacy of knowledge
fﬁm ¥ F weE g % ﬁl@ﬁ ¥y 7
(1) 9 T A GIA B/ YR BT
) g FF B B
() o @ wataar w A
() T B A @ Wi
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34 Golman is known for -

| (1) Theory of intelligence
(2) Spiritual intelligence

(3) Emotion intelligence

(4) Social intelligence

T W B AW T oW ¥
M ¢ % few & fig
@) onmemiaw gfe ¥ fag
@) wRfm g ¥ f

@) W e 5 frg

135 According to Bruner, which of the following is not the
teaching ?

(1) Formal principle of teaching
(2)  Informal principle of teaching
(3) Descriptive principle of teaching
(4) Standard principle .
W%Wﬁwfl@raﬁwﬁmwfa@aaﬁ%?
O dvate few fmw
Q) srialE B R
@) =wwieww e Rrgia
4) Wi R
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136 According to Piaget which stage of cognitive development sta.rta_ﬁ'

adolescents ?

(1) Pre operational stage

(2) Formal operational stage
3) Senso'ry motor stage.

(4) Concrete operational stage

R & omEr vk ¥ g e @ B o qew
it ¥ 7 |

(1) g el s
@) olvaie R sEra
(3) HIETHE T
(4) W FEE SR

137 Which of the following is not the characteristic of principle of teaching ?
(1) Eagemness to learn
| (2) Construction of knowledge
3) Lack of sequence
(4) Verification
fr ¥ 4 ol B g @ e fadwa o ¥ 7
(1) drEw B SgHA
(2) S B LA
(3) TPHINWEl W SAHE
@ g /'
%
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Process of guidance i -

(1)  Objective centered

(2) Guidance persomnel centered
(3) Prob_lem centered

(4) Child .centered

| e whear & ¢ .
f W ww

©) W S
@) oW Ffa

139 What. is the meaning of mental heaith ?
(1) Insufficient expression
(2) Inconsistency
(3) Guidance towards specific objective

(4}  Guidance towards 8eneral objective
RIGIECRS 5 R p— L

(1) ol eiftrafem

@) erETRE

@) ffre @@ @ o AFye

) wmr W @ i Pgm
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140 Which school of psychology emphasized on the use of factual and .obje;k
methods to study ? -

(1) Psychoanalysis
(2) Constructivism
(3) Behaviourism
(4) Cognitivism

qﬁaﬁ%mwﬁawmqaa@ﬁwﬁfﬁtﬁ%w%w
_tﬂaﬁﬁm%

(1) wAifEEYTEE
(2) WTTHRAE
(3) =EFER

(4) doaE

141 Maladjusted -people are those wh§ :
(1) face conflicting situation mostly inappropriately
(2) participate in anti social activities
(3) are helpless in removing conflict
(4) all the above
(1) ofmar smfm o ¥ TEew Rafy B WEE & E
@) " fadd wfafalal ¥ gewfar & ¥
() TE W T B A oy e ¥
(@) SR Ed
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);lz Cognitivist believe aboyt problem solving situation that -
(1) It involves thinking process

(2) It is based on trial and error

(3) It is based on reinforcement

(4) It is based on stimulus response
T e Refy ¥ foe demard @
O @ R v o b

@ W wwW T g | oemRg )

@) FE gAdwT T eniRa ¥

) T SE-TGR ey 3

143 Which of the following direct method is not included in reducing tension
and in resolving conflict ?

(1}  Eradicating or removing obstacle -
(2) Findiig another way
(3) Replacement of other objective

(4) Indecision

T B T BT TU oA I & wad ahel F onfnr
9 ¥ 7 -

()  *@e #f 7€ @ 37 seq
@ T T P
() W e W ghRem
@) Ry

i
v
*
3
1
1
L,
*
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144 Which component is not related to information processing system ?";_

(1) Short term memory
(2) Life long memory
(3) Long: term memory

(4) Working memory

B GeH (YN VRS o’ @ el a8 ¥ 7

(1)_61@351%?{?{111%
2) e wi i
3) <o wWE A

@ @l

145

Who propounded the Concept Aftatnment model ?

(1) Hilda Rawat
(2) J. Bruner
(3) Richard Suchman

(4) Carl Rogers

(1) et w@a
2 S| TR
¢) f== gowm
@) @ ded S
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‘146 'Adolescent period is the period in which the person attaing maturity' who

147

gave this statement ?
(1) Stanlee
(2) Jershild
(3) Harlok

(4) None of the above

@ vogw ¥ o 8

WCh measure has not been suggested by Smt. Taba for the development
of inductive thinking ? |

(1) Construction of concept

(2) Analysis of data

(3) Use of principles

(4) Observation of data

e fr & R & g Al o ¥ Al g @ g 7
(1)  sEuRen & Fofo

@ =& =En

() fEml w1 sgET

4) O SEwieT
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148 Internet started in India : : 5
(1) 17 August 1990 (2) 20 June 1975
(3) 8 May 1990 (4) 18 May 1988

qRa § TR A6l e O
(1) 17 s 1990 @) 20 9@ 1975

(5) 8 ¢ 1990 | @) 18 7§ 1988

149 Thé basis of hardware approach ‘is :
(1) Educational science (2) Applied engineering
(3) Both the above (4) Educational psychology
TEATL SUFH HT AUR ¥
(1) M T (2) TWERS TONCTACT
(@) SwgE AW @) e wifEE

150 'Knowledge is pre-existing, reliable and function of learning is to gain
knowledge’. Which doctrine denies this statement ?

(1) Behaviourism (2) Cognitivism
(3) Gastaltism (4 Constructivism

S Rrew 3, freweda ¥ qd 5@ FW @ W S € S ¥
TUEE 36 HUT &1 Wb T A ¢ 7

(1) =qE8TEE (2) doTEE

(3) TEwERE | @) AR
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